Flux

0.100

0.010

0.001

Deviation [sigma] Deviation [sigma]

Deviation [sigma]

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

CIR_X-1-PCA-3938-MJD55343.35339_lc.txt / MJD 55343.353393 / burstid=3938

B m Grey line: exponential fit Peak flux: 0.283+/- 0.012 c/s/cm? _
L ﬁw K Black line: power law + gauss fit Fluence : 8.83+/- 0.04 c/cm? BN
N Dashed line: power law Duration 7'8 764/ 1 00s
; t Best fit model: 2. ?
- Best fluence model: 2. h
- ‘ ‘ \WM ‘ ‘ Best duration rTodeI: . -
YN L W | M m
- I iyilUNY H
= L, [ o O AL
L ‘ ‘ “ H | T iy ‘ ‘ ‘ [
; Exponential fit é
= Expon.time: 17.43+/- 0.55s (chi*red= 1.44) 3
= } if § I 1 * | | | =
= ! by At S A AT e b b
E i Mﬁww m; Mﬁﬂw LR AR I WHHHW i HﬂﬁWﬂﬂﬁﬂjﬁWWW ﬂﬁuﬁw ﬁﬂﬂﬂ*ﬁw@i
; Power law fit é
E Power law index: -1.502+/- 0.001 (chi*red= 1.07) =
= | | | E
SRR AT by o b Eib oty LI +
= i i *Wﬂﬁ*ﬁWﬂﬁ*ﬂWW*Hﬁﬂﬁ“ﬂ#Wﬁfﬁ“ﬁﬁ*ﬂﬂwWﬁﬁﬁj*Hﬁﬁ*ﬁﬂﬁ“W*HWWWH+*#ﬁﬁ#ﬁ*ﬁﬂﬁ*ﬂﬁ*ﬁﬂWﬂﬂﬂﬁﬁ“ﬁﬂ#%
i T T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 48.26+/-16.13 s, fracgs= 0.05+/- 0.03) =
= Power law index: -1.585+/- 0.105 (chi’*-red= 1.08) 3
S : | | E
=S T TR b b bt e b e +
= r wam ﬂ | W MwwHM +m%H+H+WWW W wﬂ#ﬁw *Hﬁ*ﬂfﬁw ﬁ MM Hﬁ ﬁﬁ ) wﬁwﬂ ty WH W*Wﬁ m WWW it H+MWW#%E
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L L E
0 100 200 30

Time [s]

0



